K0477

FE {4 & AHQ12| A A8

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

Kinn

M

THE:

AHQIEIA AR ME =X 1.4308.

AlZICE LIAF 1ISO 4762 2 €7 L{E SO 4032, AE|QIE|A AR

@ 30mm O|&te| &ZF L}AFISO 4017, AHIQIZ[A AE]L

I &40 2RE ESsts AZIZA LIA EIH7E /& LICH

www.kipp.com - info@kipp.com

30| 30mm 2 40mm@l T FHUElof= K2t LIALS| LIS 2



FE FHYE & A2 |A AL

=M
® E _ E _
C
|
fan
g ~ =
= | o
| s
[T 11
M -1 e
B
o lm | ( N
o G
4 N N : . [
+\ . [ G| x g o
o e . = Q T
/| & !
N r B\ £
N M
A
EE29%
5 F{UE] &, AERI2|A AR
FEHS EFQJ A B C D E G H K L M N P R S U
K0477.112 A 12,1 5,7 27 25 35 50 - 38 37 30 5 23 21 M6x18 40
K0477.114 A 14,1 57 27 25 35 50 - 38 37 30 5 23 21 M6x18 40
K0477.116 A 16,1 57 27 25 35 50 - 38 37 30 5 23 21 M6x18 40
K0477.118 A 18,1 57 27 25 35 50 - 38 37 30 5 23 21 M6x18 40
K0477.120 A 20,1 57 27 25 35 50 - 38 37 30 5 23 21 M6x18 40
K0477.130 B 30,1 7 39 374 48 60 40 40 50 60 7 45.5 41 M8x30 -
K0477.140 B 40,17 9 51,7 494 63 80 60 60 60 80 10 52 48,7 M10x35 -
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



